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Instructions —

1.
il.
iii.

iv.

Vi.
Vii.

All question are compulsory.

Please the instructions carefully before writing the answer.

In section A Q. No. 1 to 5 are objective type which contain fill up the Blank, True/False,
match the column, one sentence answer and choose the correct answers. Each question is
allotted 5 marks. 1x1 = 5x5 =25 Marks.

Internal options are given in Q. No. 6 to 20 in section B.

Q. No. 6 to 10 carry 4 marks each and answer should be given in about 75 words.

Q. No. 11 to 15 carry 5 marks each and answer should be given in about 120 words.

Q. No. 16 to 20 carry 6 marks each and answer should be given in about 150 words.
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fforRaa Raa st &) gfif Hifvme |

() AT 9™ S T /Rl ST WER B O § Al
gl Sfde fear S 2 |

(i) BT ST FATEET B B B HE 7 |

(i) ATSIGRT BT TH ..o SESGUR

(iv) YA QB o Hufed T

(v)  gTHeIIHT @I Y& o YTl ¢ |

Fill in the blanks.

) If Insurance Company has accepted the entire claim for payment their

account will debited................
(i1) The loss which incidentally occurs is called as.............
(iii))  Partnership is born..................
(iv)  Good will is an................. asset.

(v) Revaluation account is a................. account.

fr=forlRaa areal 4 9 U9 3y 9digd —
() UNT AT @ o B9 W S YN @rar H ST 6N |
(i) TN BT U = YRMET AT — AT IUId |

(i) AR ATERT H ARBATH AR DI BIs AT Tl T |
(v) g St 7 diferf &1 qAder qog & g 2|
v)  wH & FHYE R faesT 9T ST § |

1

Write true or false.

@) Sales of goods sent on Consignment is credited to consignment A/c.
(i1) Sacrificing Ratio = Old Ratio — New Ratio.

(iii))  In partnership business there is no limit for maximum partners.

(iv)  Joint Life Policy has no surrender value.

v) Balance sheet is prepared at the time of firm's dissolution.
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fFferRad Ul & SR U@ ara | Qg |

1. d 9 YF I AW H gl S Fabdd 22 9 B ¥ 0T UF hea
g?

2. 9 T UF RSTHT SRR Yl 715 ¥ & 9N, RIT B &7

3. WY Yol Ugld &1 ST ¥ 3MTER0 WR A1Sl fhd Wi d q2IiRi?

4. M AERIEGR B AR Goll & aroil & oy @ o e
SIRATT?

5. HIEIGR @ fgicd & f¥ll U HRoT & forRay?

c

Write the Answer of the following questions in a sentence.

1. What are those debentures called which can be converted in to share?

2. What are those debentures called which are transferred by mere delivery?

3. In case of fixed capital method, in which account interest on drawings is
shown?

4.  What records are made for return of surplus capital to the old partners?

5. Write one reason for retirement of a partner?

F=fTRaT &1 |ET fddhed gy |
@) o afdd @71 MR F Toie B BT ©, S Bad & —
(i) = Tore (ii) werms
(iii) HeTRy (iv) BedY AR
@)  orfam™ ®Ed ® —
(i) STATHTT AT Bl (ii) SMHRHAD T Bl
(iii) ATHTRT AT Bl (v) 9 oM W IRdfd®
A B ST Bl
([) =T U B B BT B —
(i) = (i) oFeR



(i) <R (iv) Swfad # ¥ dI3 81

FOT U1 BT HUAl B fob FHfeadi IR T9R BT & —

(i) =mef Hufed (i) vl Hufea

(iii) =me] Ud Il |ufed (iv) |fEm Fufea

A F T Yh BH H AEIER § Gl 7:3 B JUM H A dicd © |
JA1/7 AR I 9 1/3 9FT F & UeT H AN dRdl & | =T

AT—BT SIFUTd T BT —
(i) 4:11:1 (i) 3:1:2

(iii) 2:1:1 (iv) 3:1:1

Choose the correct answer in the following.

(a)

(b)

(©

(d)

(e

The person on whose behalf the agent acts is called -

(1) Chief agent (i1) Principal

(iii) Intermediary (iv) Retail trader.

Super profit is called -

(i) Abnormal profit (i1) Contingent profit

(ii1) Normal profit (iv) Excess of actual profit over
normal profit.

Debenture holders are called -

(i) Owners (i1) Creditor

(ii1) Debtor (iv) None of the above.

On which type of assets the debentures are charged upon.

(1) Current Asset (i1) Fixed Asset

(ii1) Current and Fixed Asset (iv) Intangible Asset.

A & B are partners in a firm who share profit & loss in the ratio of 7:3 A

and B sacrifice 1/7 and 1/3 share in favour of C. What will be the new

profit sharing ratio?

1) 4:1:1 (i1) 3:1:2

(ii1) 2:1:1 (iv) 3:1:1
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W A B ol W9 T FABR el SISl aAgd—

3 — q
@) Jvol | ur R AT - UF B IR W@l ol @
(@) T YN B qaeR —  Uoll & Sfdaa @ § fordt
ST 2 |
() aell @I BH @ Sfiad § —  uT A8l 8lar @
(3) <IGdHT YATY 10 BT GaeT 28— b gRI JId™
() AIIQRI BT R0 Wl — T
— I @rdr
- &
Make the correct pair for column 'A' choosing from column 'B'.
A - B
(a) Advance received from consignee is - Open only once in its life
(b) Voting power of a debenture holder - In the personal

account of consignee.

(c) Realisation account is in the life of the firm- Does not receive.
(d) As — 10 is related to - Payment in cash
(e) Loan Account of partner - Good will.

- Fixed A/c

- Depreciation

Rer vd gRadeiiat goft § TR sraR oty |
Write four differences between Fixed and Fluctuating Capital Account.

34T
Or

3, 9, 9 UP BH H AEIER § Sl AM—8I+ 5:3:2 & 3urd H died & |
A AGTTd ®Y W B I8 TREST & fF F B A Yol R 10
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yfererd a1 <O T & Ug=Td 3 ot # 22500 %, & hH fhdr

A1 gy &1 BT | WISIERT B goll off $HE: 3 120000 %, § 75000 .

g 9§ 60000 .| 9¥ & T H M 119250 b, ATl Hle H g4 T |

A—81 RIS EgTaT 998y |

A.B and C are partners in a firm sharing profits and losses in the ratio of 5:3:2 A,
however personally guaranteed that C share of profits after charging interest on
capital @ 10% P.a. would not be less than 22500 in any year. The capital of the
partners were A Rs. 120000, B Rs. 75000 and C Rs. 60000. The profits for the
year amounted to Rs. 119250 before charging interest. Show P&L Appropriation

Account.

HUHI gRT WfAm a1 R &1 ST fha—fea ol & oy fear
ST 87 (P18 9R)

How is premium amount used in company? (Any four).

3T
Or

Udh HUHl 3 100 . dTel 10000 FHAT 3fT &1 999 10 %, Ufer o9
WNATA W) fHAT| de & qHg |41 3ie | NHgH iz dyol iy
g B TS | 3agd Yol gfafteat Iy |

A company issued 10000 equity shares of Rs. 100 each at a premium of Rs. 10.
All the amount due were received with premium at the time of application. Pass

necessary entries.

0T U5 &l IR fIydre gdrgu?

Mention any four characteristics of debenture?
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3T
Or

H1=a ffAice =1 100 . aTel 4000, 13% o1 U= FEIfAG B0 | weae
& GBI H Sial ufaftedr Iy, afe T 95 10% dec R FrifAa
ford T BT iR IR I g

Kanti Ltd. issued 4000, 13% debentures for Rs. 100 each. Make Journal Entries

in the books of the company, if Debentures are issued at 10% discount and

received the amount.

o faarol & fageivor &) $I5 IR WA Fars |

Mention any four limitation of the analysis of Financial Statement.

3T
Or

OReAdT STUTd W T R |HsId @7 $Hd IR h—dhl o
JIUTAl BT IO BT STl 52

What do you mean by Liquidity Ratio? What are the Ratio Calculated in it?

s Jarg f[JaR & DI IR Igad oy |

Write any four objectives of cash flow statement.
3AAdT
Or

IHe Y8 & Plg IR TE FAd 918 |

Give any four major Sources of Cash Flow.

X Y @I 100 <0 R&HTSR 1000 . B AR & 1300 ®. B Aol e
R WOl | U¥H - UNU R FI B 4000 %, JhHI | U B 95 7
W 10% T 9ot e 9§ A& f9d W 25% HARM < 7 | Ui
9 M & 1000 ®. FHRI| UAT 7 90 U Rebrex 137000 . H I

7
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3R < VIR U9 Bl b gIFC §RT 91 <1 | Y¥eh bl Yiepl H U90T
GTdT 9918 |

X consigned 100 tape recorders to Y costing Rs. 1000 per tape recorder at invoice
price of Rs. 1300. The consignor paid Rs. 4000 as expenses on consignment. The
consignee is entitled to a commission of 10% on invoice price and 25% on sales
above the invoice price. The consignee paid Rs. 1000 for octroi. The consignee
sold 90 tape recorders for Rs. 137000 and sent a bank drafts for the amount due to

consignor. Prepare consignment A/c in the books of consignor.

3T
Or

Y9oT ¥ IR B W 31T I IHsd 87 Sarexvl dfed Jasisy |

What do you mean by abnormal loss in consignment account? Explain with

examples.

TP HH B AT A 60000 . © 3R YSHHROT Bl &R 12% 3 | BH
o fafaer Hufeaar iR a1 99 650000 %. @ 200000 %. ®© | (T

BT ITUMET ARAH & YolldRor Ay gRT HIRTY |

Average profit of a firm is Rs. 60000 and the rate of capitalisation is 12%. Sundry
assets and liabilities of a firm are Rs. 650000 and Rs. 200000 respectively

calculate goodwill by super profit capitalization method.
AT

Or
Ifd W MU w1 AT 87 g bl FuiRd &9 alel gcdhl &l

THETSY? (P13 )

What is goodwill, Explain the factors affecting Goodwill? (any three)

Fged |ISIaR &I QF RIRT BT YA B dl (Al &1 goiF By |

State the various methods of Payments to Retiring Partner?



X 3R Y &1 fA=ifea faear @ —

SHIDG] IHH Hafed IHY
e 20000 | 3TfEHIY 20000
< faa 10000 | TSR 10000
AT G 6000 | HHTTR 4000
Yol o 27000
TR 15000
qs 10000 25000
61000 61000

I 2rdl IR /I Z BT ATeiaRy | gawr & —
1. QP! H AT @ar 10000 . | @il SR |

2. BeieR 3R Ha R 5% & HIel S |

3. TRl W 5% ITRET a1 S |
4. T AR & Yoll o 396 ATI—8T Iurd H FHrifod fhd

ST |

5. 712000 %. Yoil oIl 2 IR WSy & &l § | 1,/4 9WT o |

q HcAIdh @Il TAT AISERI & Yoil ST a1 |

The following is the Balance sheet of X and Y.

Liabilities Amount Assets Amount
Creditors 20000 | Bank 20000
Bills Payable 10000 | Debtors 10000
General Reserve 6000 | Furniture 4000
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YR 15.

Capital Building 27000
X 15000
Y 10000 25000

61000 61000

They agree to admit Z in to partnership on the following conditions —

1. A goodwill account to be raised in the books at Rs. 10000.

2. Furniture and Building to be depreciated by 5%.

3. Reserve of 5% be created on debtors.

4. Capital account of all the partners be adjusted on the basis of their profit
sharing ratio.

5. Z brings Rs. 12000 as his capital and gets 1/4 share in future profit. Prepare

Revaluation Account and Partners Capital Account.

TR fIAcsS 10 U drel 500 FHAT I TRIG I AT TR 2
Uiaiel ghri | 98 Ahed WR 3 HY Ui Td IrEr R 5 w/h
Ufaiel el < |HhT| 3 HUAT + IHD Tl 3 Sad dR ford Bl
B GBI ¥ 3aeIH YfA] HIFY |

X Ltd. Purchased 500 Equity Share of Rs. 10 each of payable as Rs. 2 on

Application Rs. 3 on Allotment and 5 on Calls. He failed of pay allotment and
calls money and therefore the company for feited his shares make necessary

entries in the books of company.
AT
Or

I T b H R W PINTY | (BT Ui fa=g) |

Differentiate between shares and stock. (Any five points)

e & |ufcd uel # ucRid AdSiFe Ul & g I¥DI BT Felu
# guie BT |

10
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Explain the items which are shown on the asset side of balance sheet under the

main heads of public limited company.

SIDEH)
Or
IR d FodY U HUl & douc | ofl 15 § —
JHAT 37 Yoil (10000 FHAT 37 UAH 10 %) — 100000
10% =0T T — 50000
SREIR — 15000
PESIICRIGIKIE] — 10000

HUAl AT BT MATIGATTAR 3MMYBT HUAT & fIes b1 I
T IR AT 2 |

The following information were extracted from the trial balance of a company.

Equity share capital (10000 equity share of Rs. 10 each) - 100000
10% Debentures - 50000
Creditors - 15000
Proposed dividend - 10000

You are required to draw up the liabilities side of balance sheet of the company

according to requirement of the companies Act.

AEER w1 @ g o faft= faftet & aemed | (@ )

Explain the various methods of dissolution of a firm. (any six)

AT

Or
BT 3k Rem b wH # AEER & 3R 43 & AU H ATHIA™

fIaRor ®RA B | Seid IReN) & 99199 T ey fhar| Sad fafdy
R BYd @I Yol 65000 . AT RET & Yoil 35000 %. 1| oF&R
15000 %. IR Jbs Y 1270 %.| Abs & IFfARad Iv Fufeqal o

11
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109000 %. I¥d Y| WAUA W by T @ 1250 &.| fqgeq @
fafer &1 fResr IR HINY Td gl @raT TR HIY |

Harsit & Richa are partners of a firm and they share their profits & losses in the

ratio of 4:3. They decided to dissolve the partnership firm on that date Harshit's
capital was Rs. 65000 and Richa's capital was Rs. 35000. Creditors were Rs.
15000 and cash was Rs. 1270. For the remaining assets other than cash Rs.
109000 was realized. Dissolution expenses were Rs. 1250. Prepare Balance Sheet

on the date of dissolution and also prepare realization account.

Ueh foIfies ®YAl ¥ 10 5. Tl 10000 3 AT § rifaa fea | iy
39 YhR A0 T8 —
JMaed R 2 %, UfT 39, 3fded W 4 5. Yfa { TJAT Il TR 4 5.

Ofer 3fer| |l 12500 3fef & ford e Ui gU | ATUIfd JATacH
fhar 1| Sfde W ura ffaRad T &1 WANT rded H faar
AT | [T RIRAT JAT AHI U BT TS | Siiel gfaftean S |

A Ltd. company issued 10000 shares of Rs. 10 each to the public payable Rs. 2

per share on application, Rs. 4 per share on allotment and Rs. 4 per share on call.
Application were received for 12500 shares and allotment was made pro-rata. The
excess application money was utilized towards allotment. Pass necessary journal

entries in the books of company.
AT
Or

YaifreR Ud FHar S § R iy | (PrE—6 fawg)

Differentiated between Preference shares & Equity shares. (any six points)

Th BUHI A AU HUAl H 99000 . P YD Hed bl Huladl Ha
@I | g8 Hedld gs b 100 . drel 11% 0 U3l & FRHT gR1 5
I B YA a1 TRAT | I8 Ad 8¢ b k0T UF (1) 99 A

12
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WR, (2) 10% Hr W, (3) 10% NfHa w i 5 | sravas
Ser gfafteat i |

A company purchased assets of the book value of Rs. 99000 from another
company. It was agreed that the purchase consideration be paid by issuing 11%

debentures of Rs. 100 each. Assume debentures have been issued (1) At par, (2)

At discount of 10%, (3) At a premium of 10%. Pass necessary journal entries.
SREH

Or
FOTTAT b I 9 RIT T 87 F UF IMYF b Al bl g

BHIFSTT |

What do you mean by redemption of debentures? Discuss the sources of funds for

redemption of debentures.

feam gam e —  =mel Jgura = 28
GACECEEIG] = 15
SR Yol = 162000
ST SIS —  =iTeg, Hufo
EISEIR]

TR Fufeaar
Given — Current Ratio = 2.8
Liquid Ratio = 1.5
Working Capital = 162000
Find out — Current Assets.

Current Liabilities.

Liquid Assets.

13
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3T
Or

Il faa=vll & faeeiyor &1 A2 FHssy | (Ple—6 0w

Explain the importance of analysis of financial statements. (any six point)

PIY YdTg Uq Idbs Udig § < forfRau |

Distinguish between fund flow and cash flow.
AT
Or

FfeTReT T 9 FaTe 9 U drg Bl IO DI |

faa=or 2004 2005

fe fe
Tih 70000 50000
TR 30000 24000
TR 35000 29000
acd <IY 2500 3500
<7 fod 30000 18000
SLISEESIE 8000 9000
SIESIGIECICI] 75000 90000

Calculate cash from operation from the following information -
Particulars 2004 2005
Rs. Rs.

Stock 70000 50000
Debtors 30000 24000
Creditors 35000 29000
Outstanding expenses 2500 3500
Bills payable 30000 18000
Accured income 8000 9000
Profit and loss account 75000 90000

14
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TR Tl & SR —
IR 1. Raad e —
() W B

3N 2.

(i) eraTg BN |

(i) TSGR e |

(v) oFd|
(v) =9 914 &l "rdT |

TS Hel SR foree TR 1 3d ot 5 3id U< s |

T /T —
ORI

(@ T

(i) 3T
(iv) 93

v) o™

TS Hel SR foree TR 1 3 ol 5 3id U< s |
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SISVASESS

Uh I H Iy —

1. 9 &1 U Sl W H d8al Off Whd & d URad-eilel oIa
HEAN T |

2. 4 ®9 UF @1 sxdiaRer Uil A 9 & O, a8d RO uH
HEAT T |

3. ¥Rl Yol Ul &1 &M | 38R0 R Aol AISIGRI BT dle], Tl
H <9I |

4. R AERR O AR gofl & =l & oy A=ieR &1 gon
QAT A UG b /dbs @Tal A il fohar SR |

5. WISIGR Bl JEIRIT / GTaRAT APIER Bl [gfed B PRI 8

TS HEl SR foree W 1 3d ot 5 b U< 81T |

el fadwea —
@)  ggr |
@) AT A WR AR A B MR B |
([) oFerR|

)
(8) =Tel vd IR Hufad |
) 311

TS HEl SR e TR 1 3d ol 5 3id U< s |

|E el —
A - 9
@) uwoll & g IRH AR —  Uol & fdTd @ | ford
ST B |
(§) T UFAIR BT AAIGR  — YT A=) BT ©

() a9l @IAT BH & Siad § — U@ & R Glell ol ©

16
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(3) TrEIdHT THY 10 BT FeeT & —

T

(3) ATSIERT &1 0T Wl _

TS Hel SR foree TR 1 3 ot 5 3id U< s |

NESSECINRGIE!

IR BT AR —
MR
N Uoll @I $1 WY A | 399 Yoll 9 &1 9y
Rade | ufday Ry JEdT 2 | EEERIIRENIY
2 |ORd BT 3AH Yol B of@l AT |3EH M 3R
LK ST & | HHIR BT ol BT 2 |
3|90 @1 T ol W A ol Wed | g el @ @1 goh
fRerar Rer &l 7 | RIRCRE R RIRERI I
4 | TTe] WA | 3AH dle] QI 91T STl | 9H Tl @Il el
g | AT AT B |

TS Hel IR fold W 1 3P G 4 3D U<l 8l |

AT

Profit & L.oss Appropriation Account

31st Dec. Ending of Year

Particular Amount Particulars Amount
(Rs) (Rs)

To Interest on Capital By Balance b/d 119250
A 12000
B 7500
C 6000
To Profit
A (46875 - 3750) 43125

17




SN 7.

B 28125
C (18750 + 3750 22500
119250 119250

HU gRT N &1 Ifdr &1 Syanr 9 ol & fory far siar

B

1. URMS &1 BT MfeRad &3 2q |
2. &=l ofer @ 0T U5 & O R <9 NifEH 2q)
3. STIRAT BT 9 AR < ] |
4. YA B AW AT K0T YA & FHET Gl F, HHIYE, BE 3N

BT AUTARTT B H |

TS g W 1 3F Fo 4 3AF U< BN |

AT

Journal Entres

Date Particulars L.F.| Amount Amount
(Dr.) (Cr)
1 Bank a/c Dr. 1100000
To Equity share application a/c 1100000
(Being amount received on 10000
equity share with premium)
2 Equity share application a/c Dr. 1100000
To Equity share capitla a/c 1000000
To Securities premium a/c 100000
(Being amount transferred)
Grand Total 2200000 | 2200000

18




SISVASE:)

3N 9.

FO-UF & fa9rya —

1. & gRT fRIf — U §RT 0T UAl & feiEe kor g
&= B forg fear mar 2

2. AN @ BT BT YA — U §RT fbY T 0T BT YATOT Bicll
g

3. FiRea @ — v ymi &1 A U MRea sy & forg faan
ST % |

4. IS BT YA — R0 T R U [iRed ) 9 Gl b1 gIde
foram STrar 2 |
TRAF g & WEe T W 1 3T A 4 3% U< o |
areraT

Journal Entres

Date Particulars Date | Amount Amount
(Dr.) (Cr.)

Bank a/c Dr. 360000

To 13% Debenture Application a/c 360000
(Being debenture issued at discount)
13% Debenture Application a/c Dr. 360000
Discount on issue of debenture a/c Dr. 40000

To 13% Debenture a/c 400000
(Being debenture application money
transfered)

Grand Total 760000 760000
facig fagetyor &1 JHY —

1. I uRad &1 efied T8 &A1 — fa<ig fageyor § geaa
g b1 B AfEferd fhar Sl € darkfded Jod WR &A1 81 &
ST % |

19



X 10.

2. TUMHBAT BT G — HHANRA] B &l db-ildl faRIyar gd
U ® BrIG BT FH iy fagewor # 72 far smar
g |

3. focig faavor diem # e — oy fagelvy & 9¥e W W
TE B & SHAD! BRI BT DHad RS B e B Fad ¢ |

4. facha faa=on # yweuar o o — AT fqaRor &1 Sd dRe
B b Teb-ilb! DI SUANT BIAT & | 37 Teb wUAT H HHT gl
g |

TG HE g W 1 3id q[A 4 3fF 9 g |

3qan
ORIl STUId 98 Ui = FMEdT ST H&AT B ASHBIelA
IRl & I B DI &HAT DI A B & ol TANT fham S
2| IT U §9 91 DI W iF AT © b AR 7 HREA gl
@I fhas gaaqel wu H YA fHAT &, g9a 79 Srurdl &1 oM
ARG

Current Assets

1. dlc] AJUrd = Current Liabilities
Ligquid Assets
2. dXef AGUId = Current Liabilities

Super Quick Assets

3. SfEReldr rurd

Liauid Liabilities

RIbs Jarg fdavo & Igavy —

1. Ape ReIf o1 RATATI — Jds Yarg A Abs Rafad &1 fageryon
BT 8| Jbs IY H gRaAdd Ud Jbs & EId UG ITANT Bl
TGN U Bl 2 |

20



2. Ade FRASH — JAds YATE IR0 | JAHs DI BH AT AT Bl
TSR e € vd i Ade & FART &7 AFieeH fAedr 2|
3. AIfA &1 FEir — b yars fdaRer 9 W7 U Td
el (1 &1 AT SR Fad! 2 |
4, WAAT B G — ADhs YdE AR & gRT AHBIAT Ul
SR 3MfE & H{IAN B &HdT I SIFBNT U 8l © |
TS g W 1 35 Gl 4 b T BT |

e & YT SAId —

1.

AT

T AT I JHS |

2. 3fE & A R U s |
3. RO YA & EET WR U S |
4. Eefoprel Tl ¥ 9f |
5. faFRRT & fdshg oR 9w |
(fp=gi < &1 FAER B W 4 3iF Y[ PN, dael fagai foalkes w) 2 e
e HIfTY)
SN 11.
Consignment Account
Date Particulars Amount | Date Particulars Amount
To Goods Sent on By Goods (sales) 90 TAPC 137000
consignment a/c 100000 By consignment stock.
To Cash a/c (exp.) 4000 cost 10 x 1000 = 10000 +
To y (octroi) 1000 Exp.
To y (Comm) (4000 +1000) x 10 _ =00 10500
(11700 + 5000) 16700 e

21




To Profit & Loss 25800
Alc

147500 147500

aferar
AT BT BT AT — U BIAT S FANGe A7 fbei faRkre ar
JAM HRUIT H IO~ Bl & Forgadl qd H dHoddr -8 &1 ol
Ahell & | SId— AT BT AN el ST, TFT 1T S, Ul & bRy

qTel BT T BT ST |

SWIFAR foR ¥ for@s R 5 3@ U< i |

IR 12, HH DI goll Fuferdr — <1l

= 650000 — 200000

= 450000

Goil x AT o 6l &)

100
450000 X 12
A T = = 54000
100
RIRIL] = T Y — G o9 &1 ox

= 60000 — 54000

= 6000

22



T x 100

LI =
5y
6000 X 100
i 12
LI = 50000
31erdT

A 98 ofdd & Sl U8l DI BH & I Bl HY B D fold

yRdT HRT 2| FIA™ BT 98 A T T Sl S UEDI UG 3

HfOrd vell gIRT orew Hey g YATaYul Bridell @& BRUT UK BT T,

I FHEATeH 2 | S qaard & R U nfd |ufed 2 |

eH —

1. BH @ RIT 9 9M — wH & RIT /e e 89 & BRO
= # gig Bl 71 fBdl ufiffesq 9m &1 STnT & W«
ST IO B 7 |

2. YAER HIAAl — AUR & WA B JIeR HIAAA & HROT BH
@ 9g H gig Bl 7 |

3. S PHHT W W A — I IAT o W A ATA Bl
fahar fhaT AT € A1 UTesd g9Ifad 8 & 3R &R &1 @i o
gfg Bl 2 |

4. faLU & BROT|

5. UBIEDHR B & HROT |

6. UTEDI P Ffoe |

(=t 9 g &1 IR a1 R 5 3fF urd &)
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IR 13, [ AER DI QIR BT YA bR DI fAferr —
1. e YA |
2. fwal d M |
3. AMYP! SR A |
4. <Y fqUa gRT 4T |
5. d W RO TIbR YA |

o

AT QR gIRT 20T oI b {ITAT |

-_—

TS YA — IQ BH & U9 9 Adbs Aqd §d AT &
Tl STHTI TSI BT dlal ATSER Bl IAD! IHE I T Th

AT T & W Bl U A YIAE BRI @ oy SRR 3UH
TR AEAT gRT 3@l 9 AT fbdl Ffdd | 1 0T xR Adha
RIRT S[eT 9l © | 39 ey # 7 oan fhar S g —
g ATSIER DT Yoil ST ™
NESPACRCIGI
(G50 1 < g )

2. foedl # YAW — W9 wH & U9 i Jde TG & oal
Mg AEIGR AT Jad WRIER & Bl Uii=E | Fwsiian
PD SH GIP IHH IFD KU G H TR PR & SR B
IR FeiRa arafdr arell fhwal § =are |fzd YA & awelr &l
STl 2| 39 Hag H frfaRed o Ry 9d © -

1. g AEER &1 Yol @rdn ™

Figed ASIGR & R0 Wi 4

(GSTr I 0T @rd H JaiRd )
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2. giol dIdr

Rik|

Fged |IslaR & R0 W 9

(T TR TS <Y §a)

3. Ir'\'lcicd HISA QN bl U7 MIdl

IS/ d6 @rd ¥

(30T BT fobed 1 gIrar o)

AT

Revaluation Account

PIs aI fafer &1 Ivi9 B R 5 36 A 9 |

Particulars Amount Particulars Amount

To Furniture a/c 200 | By Loss:
To Building a/c 1350 x's Capital a/c 1025
To Bad debtis reserve a/c 500 y's Capital a/c 1025
2050 2050

TIAT U — 1/4 AT Z & &1 & 918 3/4 99aT ©| 3/4 @I

3T JHATT 3 /8 Td 3,/8 AL X Td Y HI BT (A =TT 31U &

3:3:2
Goil & 0T —

z2 T & ford ol omm &
ar x 3 2= & ford o grf
S WE Y 3 B @ ford 4ol gFft 18000 .

12000 .

18000 .
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9 UBHR X B Yoll B fel IHH 23000 . H F 18000 . IGHR oY
RPbH 3975 %, BTl T 3R Y @1 Gl Yoil 18000 &. qh & &
for) 1025 . 3R ATIR H AR |

Partners Capital Account

dt. Particulars X Y Z dt. Particulars X Y Y4
To X's Capital a/c - - 5000 By Balance b/d 15000 | 10000
To Y's Capital a/c - - 5000 By Cash a/c 12000
To Revaluation a/c 1025 1025 - By Z's Capital a/c 5000 5000
To Cash a/c 3975 - - By General res. a/c 3000 3000
To Balance c/d 18000 18000 2000 By Cash a/c - 1025
23000 19025 | 12000 23000 | 19025 | 12000

IR 14, X I D Sl gfdfte

Journal Entries

Date Particulars L/F | Amount | Amount
(De.) (Cr.)

Bank A/c Dr. 1000

To Share Application a/c 1000

(App. money received on 50 share))
Share Application A/c Dr. 1000

To share Co&ltal A/c 1000
(Money due on 500 share)
Share Allotment A/c Dr. 1500

To share Capital A/c 1500

((Allotment money due on 500 share)
Share Call A/c Dr. 2500

To share capital A/c 2500
(Call money due on 500 share)
Share Capital A/c Dr. 5000

To share Allotment A/c 1500

26




3N 15.

To share call A/c
To share for feited A/c
(For feature of 500 shares)

2500
1000

(IA® T H 1 b T B

arerar
3T UG Why H R —
1 | sifa e 3ifhd g BIaT & | | 3ifha Hod 8l BIell & |
2 | YUia: g BAT | YUl & B9 | YUl Gl BIdT |
3fIeTD T8l T |
3 | BXIaRT HT B Y ®Y A |[WbH D 9N Bl
SEARYT BT & | | RIHIGRYT BT ST Febell
=
4 | <wm ¥ sIeil 2 | ¥ =8l 8l © |
5 |USiipd 8T | 3fY Hed IMRES | W™ Uoilgd U4
B B | ruSiigd &Ml B Had
=
A% HEl IR W 1 b KA 5 b T s8I |
|Hfed et H geiRid g e —
1. el wefeaat —
2. fafmT|
3. 9o wHfcadl 0T gd A |
4. fafdy <o |
5. SITY—gIf~ QT |

TS 95 W 1 3 Ko 5 b U<l BT |
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3N 16.

AT

Balance sheet of A Company Case on............

Liabilities Amount Assets Amount
(Rs.) (Rs.)

Share capital 1000 equity shares
of Rs. 10 each 100000
Secured Loans:
10% Debenture 50000

Current liabilities :

A Creditors 15000
B Proposed Dividend 10000
175000

w9 & faged o fafdar —

1. I §RT FATOE — BH & FHYE ARERI & o] FHSid &
MR TR fHaT ST FhaTl B |

2. A FHUA — ®H &1 FEfRed dRU 9§ SfErd wu |
HHATYA BIdl & —
1. B4 & q AEER A1 U B Bredr a4l AR faarferr

IS 81 ST & |

2. H BT I FTod 8 WR |

3. IRT §RT FHIUA —
1. a9y arafer qrell A=ERT @1 Jafd goui 8 R |
2. T TRy Iged arell WEIeR] &1 Igad Juf B OR |

4. AT §RT |ATGA — DIs ¥l AERER B4 &l fIRad wu |§ o
TH BH BT FAYA BT AhaT @ |
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5. AT gIRT FHMUA —
1. I BH BT JaAT 1A & I § |
2. I BH HT ARER WIS ©Y A [T 8 1l § |
3. TSGRl &1 GRERI BT |

4. ATeIQY ST UlTel BIHT |

5. T Pls AT MR BF TR URATAI FHUH BT AR <

<l |
SRR AR § o9 &1 R G 6 3 g i |
AT
Old Balance sheet
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Capital Cash 1270
Harsit 65000 Sundry Assets 113730
Richa 35000 100000
Creditors 15000
115000 115000
Realization Account
Particulars Amount Particulars Amount
(Rs.) (Rs.)
To Sundry Assets 113730 | By Creditors 15000
To Cash A/c (Creditors) 15000 | By Cash (Assets realized) 109000
To Cash (Dis. Exp.) 1250 | By partners capital A/c
(Loss)
Harsit 3417
Richa 2563 5980
129980 129980
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SN 17.

Journal Entries of A Ltd.
Dt. Particulars L.F Dr. Cr.
Amount | Amount
Bank A/c Dr. 25000
To Share Application A/c 25000
(Being application money received for 12500
shares @ Rs. 2)
Share Application A/c Dr. 25000
To Share Capital A/c 20000
To Share Allotment A/c 5000
(Being Rs. 20000 transferred to share capital
a/c Rs. 5000 transferred to share allotment a/c)
Share allotment A/c Dr. 40000
To share Capital A/c 40000
(Being allotment money due)
Bank A/c Dr. 35000
To Share Allotment A/c 35000
(Being allotment money received)
Share Call A/c Dr. 40000
To share Capital A/c 40000
(Being share call money due)
Bank A/c Dr. 40000
To Share Call A/c 40000

(Being call money of 10000 shares received)
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3TN 18.

AT

JaiferpR 37T TF FHAT 37 H SR —

1 | sfer af¥r I 3Afdd BIal ¢ | e HH BIAT ¢ |
2 | o @ &R | FREd ' B aRad-efier I 2 |
3 | H | yalfderR  3fer U | \HAT 3fE B AT
EIZIEC]) AT WEAT Y W | e qrg H fgr S
EECREUIRCININ =
4 | SiRew SIRgH HH Bidl & | | S 3ffed Bl @ |
5 | Hedl H | g@ifgeR 3fe & Hed | §9dT A & Hed H
BIRERE H qRac HH BIT 81 | URadH 3fde Y&l © |
6 |3 Yol @ | fqued & 9#g W | f[dged & 9Ag 994
CIEKH Ugel A0 Bl S © | |96 H argd Bl Sl
=
T® g UR 1 3ib Gl 6 AH YT B |
Journal Entries of A Ltd.
Dt. Particulars L.F Dr. Cr.
Amount | Amount
1 Assets Alc Dr. 99000
To Vendor Co. 99000
(Being assets purchased)
2 Vendor Co. Dr. 99000
To 11% Debenture A/c 99000
(Being 990, 11% debenture issued at per)
3 | Assets Alc Dr. 99000
To Vendor Co. 99000
(Being assets purchased)
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Vendor Co. Dr.

Discount of issue of debenture A/c Dr.
To 11% debnture A/c

(Being 1100, 11% debenture issued 10%

discount)

99000
11000

110000

Assets A/c Dr.
To Vendor Co.
(Being Assets purchased)

99000

90000

Vendor Co. Dr.
To 11% Debenture A/c
To Security premium A/c

(Being 900, 11% debentures issued at 10%

premium)

99000

90000

SEIH

FOT UA & AEE ¥ Aeqd e R o T ko $F gyl 9 2
T HHA gRT ol M Fo9=l & SRl @) A 9 B

RUUH & TEA & oY By & EAT —
1. <dferd @t a1 B | o~ o a1 dfad R v S e

A I ARG 9T | W K0T GAT BT A AT S ® | R0 95

@ 3ifhd Hed BT 50 UL 9T K0T IS TE DY H SR
frar ST ¥ 39 R W A @ dowfer &1 B fean
SITaT 21 IRTGepT START 20T U & 9N & w9 & fhar Siar 2 |

2. Y AT T FU YA & REA §RT :— HIE U FOT UF Bl

fReT BR STBT RT B I8l H FUTSTARI Bl I 31T IF AT T

CEREUIE RTINS
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3. 3T ©Id — HUAl U KU U Hl goN H Hg HY FIT U

BT YA BRAT 8 | DU U Hufed &1 Iha d FoT = &7

YT R Fh 2 |

SWIFIFAR fIER 4 909 %7 W) |/ 6 3(d U< i |
IR 19. A4 6 9 R¥@ x B
fear ar 2 HRiEe Yol = =dl gl — I <1l
/. 162000 = Td gHd — 9o S ... (1)

T FHEfed I Fufed

A YT = ———————
Il QTR X
2.8
T
el FHfed = 28 2)

T

FHIEROT (1) H Tl FHfed &1 J9 I@T TR

162000 = 2.8X — X
162000
X - = Rs. 90000
1.8
THIEROT (2) | A9 @ W
I gHfed = 2.8 X 90000
= Rs. 252000
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Liquid Assets

Liquid Ratio

or
Current Liabilities

Liquid Assets
1.5 = or
90000

Liquid Assets = 90000 x 1.5

= Rs. 135000

SEIH

facha faaror faveivor & A8cg —
1. J9gdl D AN — JIA™T D YeUH, JaAd bl ATSIdhT,

fhareAdmar, wriverar, faaim Refd @ dRear &A™ fawi
fageryor I o FHd B |

. OERI @ M — AAERI $ QR IfdPbleid Td Srddreld
FOI B BH B R B RAfT B IR iy faveryor &
gl R D 2 |

. fafaieel &1 am — O faaro &1 fagewor e &
forg wer ueeies @ e e @ e 5 aaafie
SuHA H U o= BT AT axa  forg ¢t GUR B ' o9
SushA &1 facia Refd g vd ddm e & |

. JEERAT B dWM — fAciy Awelvo ¥ SRErl e @
ARG & RIFT BT fAwelvor o) I=T UIa 8 dTel ATIIeT @l

HAT BT eI HA 3 |
. WRBR B dM — WHR i favelwor & g™ Sl &)
AHEd BT A ST © | 3fe fdmrd & Ffaal & = o

34



3N 20.

Y fveor Jeres B 2| s faweyer & v fuiRer § gfaen

Bl B |

6. PHAMRAT BT o — HHIN Ay Aoy & gRT U= da+
gfg a9 iR =y Jfawmslt @ 7T wR |ed g I8 ok 9
IIATT BT ATSIGAT & fATATI & gRT B Ihd ¢ |

TS 95 W 1 3 Ko 6 b U<l BT |

PIY Yare fdaRvr vd Adbe yare faaxor # 3R —

TR
1 IR HIY Ydrg fdaroT BIY P | Abs Yag AdR0T Iy
AUSH  IJFYROT R | B HBIT JAEURIT TR
JEMRT & SI8T BN BT | TR & ST BIY Bl
acd e gofl 9 | ds JET AT 7
g |
2 | YRYAT BT | DI YdTE fdaRoT BRI |JAbe  Yarg  fdaver H
MR Uoil # gRadd & HRUT | bs Refr # aRedd
HIY H qRYA- AT &1 |BF W dHs  Ydls
AT © |
3 | ogied P YAIE [qaR0T & HeY | Adbs YAl [daRor B
TqTg H dlg A dWipd Y9I | e § oigid YHT9 3
B T AT | I faar T |
4 | fohamd PIY Ydre fdaxor ¥ BIY |[Abs Yag fdavor o
P = fhael #|dw@ied wH™ 3 @
qiffepd 81 fhal T & | | AR b YAlE Bl
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TOET e AT
g facia  fohameil H
S TSl & |
PR | DY yargs  fdeRer # |Abs yars  fdaRor A
Ll H| el ol H URaad |89 UBR @ Dy
URGAT DI | DI AT el Rl | fdaRor 81 g9rm Srdn
3TREE Tqd =] IMIE & A | B |
H g B |
6 | olgih DY Yarg [darol ofgichd [bg  UYdIg  [daror
agfr @ QUGE A W | d@ied @ Abe A
3TERA | W IMETRT 2 |
TS g W 1 3fF A 6 f® U< s |
SAdT
Calculation of Cash From operation
Particulars Amount | Amount
Funds from operation (90000 - 75000) 15000
Add:- Decrease in current Assets
Stock 20000
Debtors 6000 26000
Add:- Increase in current liabilities expenses outstanding 1000 | +27000
Less:- Increase in current Assets. 42000
Accrued Income 1000
Decrease in current liabilities creditors B/p 6000
12000 | -19000
Cash from oeration 23000 23000
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